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ABSTRACT In the evaluation of libraries, there should be different
weightsfor different factors according to their importance. In this paper ,
the author proposes a method for the determination of weightsand discuss
es theoretical bases of the correponding formulas. 2 tabs. 2 refs.
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Ho:8
L=8,K=4, 1
M;=16 M2=29 M3=24 Ms=11; Y TP =M+ M3 1 :
+ME + M3 = 167 + 297 + 242 + 112 = 1794; X2 = 1993.3
12 12 2 :
T2- [3L(K+1)] = x
Lr(K+p 20 - [ (K+ D1 =570 1997(2) 115 20
1794 - [3x8x (4+1) ] = 14. 55.
a =0.01, of =4-1=3,
X8.01(3) =11. 345. 066600
X? = 14.55,X3.01 (3) = 11. 345;
X2>X3%.01(3) , Ho, 8 ( :1998-08-13 )
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